61070

B. Com. (Pass Course) 1st Semester
e w.e.f. Academic Session 2014-15 to
2023-24 (For Re-appear)
Examination - December, 2024
FINANCIAL ACCOUNTING - |

Time : Three Hours ] [ Maximum Marks : 80
Before answering the questions, candidates should ensyre that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.

o7l & goe 37 @ qed g 98 ghRkad #w @ R T gof @@
Tl ToF 9 [Far & ghHT B ST 3§ g9 7 B Rarad I8

g7t

. Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.
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1. (a) Nature of Accounting 2 x8=1g
TEET A gy
(b) Trial Balance
elqe
() Accrued commission
Afta Fhe=
(d) Compound Journal Entry
i3 s sfafe
(e) Meaning of Depreciation
TH w9 R 7
() Account Sale
feppa RaoT
(g) Onme-sided Errors
g Ffed
(h) Capital & Revence Expenditure

ot T AT @

61070-3,750-(P-7)(Q-9)(24)  (2)



3. Explain the Accounting Principles in detai]

16
qEiHT Rial B R ¥ @mEmRy,
UNIT -
e -1l
4. Give four examples each of Revenue Expenditure and
Capital Expenditure. 16

AT T (i &S D g @ T FEX Ay

% 3. On Ist April, 2013, a company purchased a Machinery
?' for Rs. 10,000 and spent Rs. 2,000 on its erection. On
Ist Oct., 2015, it purchased a second machine for Rs.
. 4,000. The machine purchased on Ist Oct., 2015 was
% sold on 1st April, 2017 for Rs, 4,600. The depreciation is
. provided @ 10% P-a. on Diminishing Balance Method
by the company. Prepare the Machinery Account upto
the year ending on 31st March, 2018. 16

1070-3,750-(P-7)(Q-9)(24) (3) P.T.O.



T I X 1 o, 2013 ® 10,000 R # w w3

WWMWT{LOOOW&@%N]

2015#@%4,0@5@##{8?[‘1@?@?@131@:

2015 H @ T a1 o, 2017 & 4,600 TTY RN

:ﬁﬁlzmm%aﬁmﬂﬁwmmam
| 31 A, 2018 % @9 a§t @

i qaﬁ#r@mb

UNIT - Ill

TS - I

6. Explain any six adjustments regarding final

accounts. 16

i @raf @ Tafag Bl & gaaeet W Fivm

7. The books of Deven could not be tallied. A difference
of Rs. 1,270 was transferred in the suspense account on

the debit side. The following mistakes were found

later on. Rectify these errors and prepare Suspense.
Account : 16

(i) The purchase of Rs. 400 from Saran was entered

into Sales Book but Saran's personal account was
rightly credited.

(ii) The sale A Rs. 430 to Ramdas was credited in his
account as Rs. 340.

61070-3,750-(P-7)(Q-9)(24) (4)



(iii) The sales of old fumiture of R 540 was credited
to sales account as Rs. 450,

(iv) Goods worth Rs. 100 were taken by the proprietor

which was not recorded.

(v) The sales of Rs. 296 to Kishan was centered in sales
Book as Rs. 269.

(vi) Sales Return Book total of Rs. 210 was not

included in the accounts.

T B A W AR T ogam 1,270 $@ W AW
SO @ @ e uw ¥ T mm SR A el
IRl @ T I S AREd 3 gOR A e e
HIT TF I GrN T

() & @ 400 T A Gl R g F & B R A,
AfFT T F ARG G A shise fhar T A

(i) Wﬂ%%ﬂ‘ﬁ@aﬂﬁvﬁlmmﬁmos@%
&g § o # W

(ﬁi)gﬂﬁwﬁmﬁﬁﬂ%mwﬁﬁﬁaﬁ@ﬁﬁmm
& wg # o fRar T

(iv)1005@ﬂﬂﬁﬂﬁm%mwmaﬁ{aa
8t @1 T

(v) ﬁssma?rz%sqﬁaﬁﬁﬁ,ma'&ﬁzws@%m
F 3ot @ Rl

P.T.O.
61070-3,750-(P-7)(Q-9)(24) (5)



(vi) Rt Ret 3% ar g 2w 210 o @t A af T

frar
UNIT - IV
e — IV
8. What is Receipts and Payments Account ? What are its 0

characteristics ? 16

ST & P @ Y wed ¥ 7 s@d e € 7

9. 1,000 cycles were consigned by Ram to Mohan at
Rs. 1,500 each. Ram paid freight Rs. 1,00,000 and
insurance Rs. 15,000. During transit 100 cycles were
totally damaged by fire. Insurance company paid
Rs. 1,40,000 for claim of loss Mohan took delivery of
900 cycles and paid Rs. 15,300 for Octroi. 800 cycles
were sold at Rs. 2,200 each. Expenses of Mohan were
Rs. 20,000. Mohan was entitled a commission of 5%.

Mohan settled the account by bank draft.

Prepare ledger accounts in the books of Ram. 16

M 3 AT # 1,000 GEfRT 1,500 T9 9% 3 R @
Yyor qr At U9 A el 1,00,000 T9F q@r A= 15,000
mﬁgﬂﬁﬁﬁmmﬁlooaﬁﬁﬁmﬁwanél
7 Fqf ¥ 1,40,000 TR BN F TRE R deT A
900 @rEfka @ feelad & T R 3 15300 v Ru

61070-3,750-(P-7)(Q-9)(24) (6)
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61071

B. Com. (Pass Course) 1st Semester
w. e. f. Academic Session 2014-15

to 2023-24 (For Re-appear)
Examination — December, 2024

BUSINESS MATHEMATICS - |

Time : Three Hours ] [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in

this regard, will be entertained after examination.
Tt & gav 37 @ v gl 78 ghAkad &7 o [ sR {1 @
a8 gex v P & wher @ JyerT s dag 7§ @5 F R T8

g R
Note : Attempt five questions in all, selecting one question

from each Section. Question No. 1 is compulsory.
Graph, simple calculator and log tables are allowed.

5% W @ 0% W B 9 B g, FW A9 &
W g "o 1 i @ G, O Faguel AN

dfT 39 A FPR
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Compulsory question : 2x8=1g
(e)
T 797 :
1 _ 1 3 _ 1
- (@) If m—%+——,pr0vethatm -3m=a+—.
Ja a

g m=§/3+i,ﬁqaaft% m3 —3m=a+2
% a .

(b) Evaluate (0.078)1/ 3 using log table.
| S H ST BB (0.078)/ > eEiHEA B

() If n(P) = 20, n(Q) = 18 and n(PuQ)=27, then

nP-Q)=............
(d) How many different signals can be given using §

any number of flags from 6 flags of different
colours ?

R @ 3 6 et 8 Rl R den ¥ FE @ sw@m
@ P orT-oreT E Y o R ¥ 2

61071-4,050-(P-15)(Q-9)(24) (2)



(¢) In how many ways can 5 ladies ang 5 gentlemen
be seated at a round table, so that no two ladies

are seated together ?

5 wieerall AR 5 GwFl B TF WS A | B b
D 3 o o A b, A B A R
Q7
(f) Insert four A.M's between 4 and 29.
4 AR 29 3 o9 I’ AM Tl B
(g) Which term of the GP 5,1, 0.2, ..... is 0.0016.

GP5,1,02,.... ¥ #AF-81 & 0.0016 Bl

(h) Make a frequency table in ascending order in

inclusive form from the following data, selecting a
class-interval of 3 units each :

5, 8,12, 14, 6,9,7, 10,11, 13, 9, 8, 10, 7,16, 17, 22,
16, 19, 21, 20, 18, 12, 13, 6,7,9,13, 17, 16.

61 071-4,050-(P-15)(Q-9)(24)‘ (3) pP.T.O.



FefRee offest @ oM@ 9 & o sraa @en
T, Rred 3 gadl a1 af-ofme g TR
2, 8,12,14,6,9,7,10,11, 13,9, 8, 10, 7, 16, 17, 22,

16, 19, 21, 20, 18, 12, 13, 6, 7, 9, 13, 17, 16. .
SECTION - |
gus - |

2. (a) Solve  the equations 3*+2Y=5 and

2¥*4 L 3¥+1 _ 4
THHET &7 B 3¥ +2Y =5 &l 2Y*t4 1 3%t _4q
(b) If x=1+logabc,y=1+logbca,z:1+logcab;

8 .

prove that xyz = xy + yz + zx.

I x=1+logabc,y=1+logbca, z=1+log ab;

Rrg &8 & xyz=xy +yz +2x |

1071-4,050-(P-15)(Q-9)(24)  (4)



3. (a) Toprove that (A~B)U(B“A)‘-‘-(A\JB)~(AmB)

(b) Each student in a class of 40 studies at least one of
the subjects English, Mathematics and Economics ;
16 study English, 22 Mathematics and 26
Economics, 5 study English and Economics, 14
Mathematics and Economics and 2 English,
Economics and Mathematics. Find the number of
students who (i) study English and mathematics

(ii) English, Mathematics but not Economics. 8
40 ® F T A TAF o SR, TR AN e
¥ A3 Q F9 0 QAT gE 8, 16 R, 22 T
At 26 sdarer TR ¥, 5 sih ol srfwrel wed g,
14 TR A o ol 2 SR, orevel ST T
@ ¥ o7 et @ wew o AR o () IR A

nﬁmwﬁﬁ(ﬁ)dﬁaﬁ,@mma&maﬁ
(5) P.T.O.

61071-4,050-(P-15)(Q-9)(24)




SECTION -y

quE -

4. (@ How Mmany words can be formed out of the letters

8‘?
MALENKovm%am‘fﬁmﬁmmwm
g afy .

of the word MALENKOV so that :

(i) First letter is vowel

U8 R @y 2

(ii) No two vowels are together

.a%gsﬂa}m@maa%

(iii) Beginning with M

M 8 go3T

61071-4,050-(P-15)(Q-9)(24) (6 )



(v) Relative position of vowels ang (o,

remain unchanged.

. (b) In how many ways can 5 persons A, B, C, D and E

sit around a circular table if : 8
53 A, B, C, D I E T% MR a5 3 71t aix
R T & Y5 o ¥ AR
() B and D sit next to each other

B AR D &I 3 ¥ 7 Yo ¥
(ii) A and D do not sit next to each other.

A IR D @R 3 3w & 78 3 ¥

5. (@) In how many ways can a cricket team of 11
Players be selected out of 16 players. Also find the

number of ways : 8

61071-4,050-(P-15)(Q-9)(24) (7)) P.T.O.




LS 2"5‘3-.5“ % i pp—
16 faafeat & @ 11 R A e dm & 999

R ads & fear o @l @ ads @ der st s
T -
(i) If two particular players are always to be.

included.

IR 3 Ry Reafedl & wda e R ST R

(i) If one particular player is to be excluded.

IR oz Ry Reard # 9T W@ A 2

(iii) If two particular players are to be included

and one particular player is to be rejected.

uﬁﬂﬁﬁwm@ﬁﬂ%ﬂmmm%aﬂ'{.
o fagy Reerdl & @ier Rear s 2

(b) An examination paper consists of 16 questions

divided into parts A and B. Part A contains 9

61071-4,050-(P-15)(Q-9)(24) (8)



questions and part B contains 7 questions. A

candidate is required to attempt 11 questions,

selecting at least 5 from each part. In how many

ways can the student select the questions ? 8

B AT S H 16 99 & 9 A ok B ¥ Rl
%lﬂmAﬂ9m%Bﬁ”{ﬂmBﬁ7W%|@

REmdt & 9% o A A W5 W o

11 9 & T $AT FE9F 2 o ey a9

q¥ W TG H GFHAT & 7

SECTION - lli

gug - il
¢

6. (a) Divide 20 into four parts which are in A.P. and
such that the product of the first and fourth is to

product of 2nd and 3xd is in the ratio 2 : 3. 8

61071-4,050-(P-15)(Q-9)(24) (9) s G



zoaﬁaﬁma‘mﬁaﬁﬁA.P.ﬁ%@Ts’H
mﬁ@mﬁwmmmm%

W%@ﬁwﬁZﬁ%l

=

(b) If the sums to n terms of two A.P's are in .

+ 15 ; find the ratio of their 12%
8

ratio3n + 8 : 7n

terms.

e q A P.%nqér%ﬁrwsn+8:7n+15a‘:
aﬂmaﬁ%,a‘raq%u&qﬁﬂaﬁqmmaﬁl

If the sum of three numbers in G.P. is 38 and their
8

7. (a)
product is 1728, find them.

gz GP. ¥ &9 wemet @ A 38 ¥ A I

e 1728 3, @ I° T B

61071-4,050-(P-15)(Q-9)(24)  (10)




(b) In an infinite G.P., the nth term is equal to three
times the sum of all terms that follow it and the

sum of the first two terms is 15. Find the sum of

the series to infinity. 8

T$ IFd G. P. & ndl T 36 9% AW ) o &
3 A 3 A A & ST AA & A Tow A W A

AT 15 B 81 G 9% YT H QN T B

SECTION - IV

gug - IV

8. (a) Consider the marks, out of 100, obtained by

51 students of a class in a test, given in Table

below : 8

:ﬂ%ﬁﬂémﬁmw,%m%mﬁmﬁm

W 100 & | e e W RER #1

61071-4,050-(P-15)(Q-9)(24) (11) P.T.O.



/ 80-90

L 90-100 o

—_ ]
T corresponding to this

frequency distribution table,

Draw a frequency polygo

wmmm%mwmwm,



(b) Define Tabulation and explain the objects and

advantages of Tabulation. 8

Wﬁmﬁmmgmm

A & e
9. (a) Study the following graph carefully and answer
the questions given below : 8
Fr=fafe I6 & aFgEs e w5t o R R ™
gyt 3 IT e
60 ‘60 0 Income
NS
? 2 10 40 N ) Expendiure
K &
@ <57 30 | |30
& [ |20
=
g &
< |
2004 2005 2006 2007 2008

Years

61071-4,050-(P-15)(Q-9)(24) (13) P.T.O.



(i) The income in 2006 was equal to the

eXpenditure of which year ?

2006 % 3 P ot # @ @ a7

(ii) What was the difference in profit between

2005 and 2006 ?

2005 3 2006 3 & @ F Far AT AT 7

(iii)) What was the percentage increase in

expenditure from 2006 to 2007 ?

2006 & 2007 7% &9 ¥ shwr ghs w1 @ ?

(iv) In which year was the profit maximum ?

fpe af @ tftreay a1 ?

8

(b) Construct a pie chart for the following data :

el st 3 e o o & amee

61071-4,050-(P-15)(Q-9)(24) (14)



TR TP

Subject English|Maths

Physics|Chemuistry
Ay | @I e

T

Economics Commerce

qieTy

No. of
Students| 45 60

20

30

10

15

61071-4,050-(P-15)(Q-9)(24)

(15)
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B. Com. (Pass Course) 1st Semester
w. e. f. Academic Session
2014-15To 2023-24
(For Re-appear)

Examination - December, 2024
BUSINESS ECONOMICS - |

Time : Three Hours | [ Maximum Marks 30

Betore ansiovring the questions, candadates shovdd evisune it thwy furer
been sugphied the correct and complete question paper No ot m
thes regard, will be entertaned after exammation

w7 & g7 37 & e ghwrd IF gAET ¥ I B g ot o
TE 797 g7 P & o ® VT §H sew 3 % o e of
Note : Attempt five questions in all, selecting ome question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.
TO¥ ¢ R 0B N g BT, %W ofg ot # 3w
CUELTI S I I W T L
&4 ¥

1. Explain the following in brief : 2-8=16
1 @1 de & e o
(a) Mixed Economy
fafya srtayaeen

61072-4,000-(P-4)(Q-9)(24). PTO

\




(b) Price Mechanism

(©) Marginal rate of technical substitution
(d) Ridge lines

(e) Law of Diminishing marginal utility

Eraeﬁmiaatr!i}ﬁaremﬁw

(f) Income consumption curve
T YT a5
(8) Non-price competition

R SRy

(h) Duopoly

2. What is production Possibility Curyes ? How can basic

problems be solved with the help of Production
Possibility.

3. What is elasticity of demang » How is elasticity of
demand measured ?

ﬁw#a}aw%?rﬁnﬁaﬁwﬁ%ww%?
61072-4,000-(P-4)(Q-9)(24) (2)



61072-4,000-(P-4)(Q-9)(24) (3)

UNIT - 11

e -l
. Explain the law of variable pro - _
best stage of Production ? V\Iljhaf(;;zotf}\\- Which is tbe
application ? € causes of its
16
%ﬁaﬁ@ﬁ%ﬁwmmm,mﬁ%_ﬁ
.m%%?wﬁw%wﬁ%%wW%?
. Why is LAC Curve U’ Shaped ? 16
SRl AT A Tb U B & - 8y 2 2
UNIT -1
e -

- Explain the Law of equi-marginal utility. Also give its

Importance & limitation. 16

Wm%mﬁmﬂmuwmﬁm
e U9 dMN A 50 |

. What are the indifference curves ? Discuss their

properties. 16
eIl 95 /T & ? I [a9waret & avie i)

UNIT -1V
g - IV

Define monopoly market. Explain its features. 16

CHER AR @ R AR gEe el &
HfTT | :
P.T.O.




UNIT - 11

g — I

4. Explain the law of variable proporti
ti i o

best stage of Production ? Whaf areoé:évgrh mftbe

ses of 1its

application ? o

e SE0 A B P 1 av Hif
.mm%?wmgwm%%ﬁﬁﬂg?ﬁw

. 5. Why is LAC Curve 'U’ Shaped ? 16
e aa A @6 U SR &1 a4t 2y 2 7
UNIT -1l
g — i
6. Explain the Law of equi-marginal utility. Also give its
Importance & limitation. 16

qrdmid Swdf & P @ aren A gw e @
Ugw U9 9H Al SR

7. What are the indifference curves ? Discuss their

properties. 16
qOTAT 9% FT & ? 3 fagwarel & au it
. UNIT - IV
g — IV
16

8. Define monopoly market. Explain its features.

Wwaﬁnﬂwmﬁ%wﬁﬁ%aﬂwm
BT | |

61072-4,000-(P-4)(Q-9)24)  (3) P.T.O.




9. What is Perfect Competition ? How is it different from

monopoly & monopolistic competition ? 16
qof sftatfrar o & 2

? g8 wEfeH ot uHfuad fadfar
TP R L7

61072-4,000-(P-4)(Q-9)(24)  (4)
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61073

B. Com. (Pass Course) 1st Semester
w. e. f. Academic Session
2014-15 To 2023-24

© (For Re-appear)
Examination — December, 2024
BUSINESS MANAGEMENT-|

Time : Three Hours | [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in

this regard, will be entertained after examination.

7 2 v 39 @ vee yoem I8 ghke &t d Ry g {1 @@
gei goE B & mimwm#%ﬁaﬁw:@?

gt
Note : Attempt five questions in all, selecting one question
® from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.

W%@%@maﬂﬁgﬂ,ﬁavfamﬁf%m
A we dem 1 gREd bR w3 9@

T &

61073-3,000-(P-4)(Q-9)(24) P.T.O.



1. E\plam the fO“O\\‘ing in bl’it‘f . 2~8=16

freT 3§89 § aren AR
(a) Profession
qum
(b) Tertiary Industry
T aoft 3 Fam

(¢) Functional foremanship
ERICE B OEE N

(d) Is Management a Science or Art? ¢
w1 T O R ¥ o &

(¢) Minimum Preliminary criteria
ATH AR J9EUS

() Corporate Planning
FARET M

(g) Formal organization
Al e

(h) Delegation of Authority
R AT

UNIT -

s - | (]

9 Describe the features of Business. How business 1S
different from employment and profession ? 16

g & Rl @ TR A SR R g d
om0 A R R 7

61073-3,000-(P-4)(Q-9)(24) (2)




3. Write a detailed note on classification :
Of Business

Activities.
& AR Bt @ i
ZaErd R .
‘ UNIT -1l
s — |l

4. What do you mean by Management ? Explain its
functions. 16

5. Critically evaluate Scientific Management. 16
Y1 SR B ST e i
UNIT -1l
s — I
6. Describe the steps involved in the process of Planning.
Also mention the features of an ideal plan. 16
W#m,amwﬂmw‘@m
Frer 3 RSwarel Ao BT

'management by

J. What do you understand by
tions -to make 1t

objectives’ ? Also give sugges

effective. | 16
‘@sﬁmm’ﬁmwm%?ﬁmﬂﬁ%
fe g A A

p.T.O.
61073-3,000-(P-4)(Q-9)(24) (3)



UNIT - IV

zad — IV

8. Distinguish between decentralization and deligation
What one the major obstacles to the decentralization ?
16

RSB o srefqer & ofR d@EQl faEmeT § &
TG ¢ St ¥ g quie il

9. What is Organization Structure ? What factors need &
be taken into account while deigning organization

structure ? | 16
WeT W A T 7 ded aXE @ R dAR
999 % 9eat @ &g 1@ aifed 7

61073-3,000-(P-4)(Q-9)(24) (4)



Roll No. oo,

61074

B. Com. (Pass Course) 1st Semester
w. e. f. Academic Session
2014-15 To 2023-24
® [For Re-appear]
Examination — December, 2024
BUSINESS COMMUNICATION SKILLS

Time : Three Hours ] [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have

been supplied the correct and complete question paper. No complaint in

this regard, will be entertained after examination.

gl @ v 37 & ved vhwrf 78 ghkaa w7 o B gam 37 @

T8 goF g7 Frem & g & S9 39 g7 7 F of RrEa TE

g arahy

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.

5% 3 @ 0F O T g, FW 99 I F IW
A g de 1 FhEd ¥ R oS $ 9%

I 2
1. Explain the following in brief : 2x8=16
fre @ g8y § are fAT ¢
(a) Miscommunication
wfd §aX
P.T.O.

61074-2,600-(P-4)(Q-9)(24)



(b) Language barrier
AT FEAY

(c) Spam-mail
EBHIY §-A

(d) Persuasive letter

ya<® 9

(e) Difference between abstract & summary
R M Fre faaRer & o<
(f) Bibliography
Tl =
(g) SQ3R (Reading skills)
SQBR (d&+ HE)
(h) Kinesics
PGP AT

UNIT - |
@ |
2. What is meant by Business Communication ? Explain
its basic functions. 16
FEaE GO e #ed © ! 3D g FE B A
IfTdl

What are the Dbarriers to communication ? Give
16

suggestion to overcome these barriers.

o @ oEdd @ T R ¥ 7 & omdd A g
3 fi gee ATl

61074-2,600-(P-4)(Q-9)(24)




61074-2,600-(P-4)(Q-9)(24) (3)

UNIT -1l

s — |l

What is business letter ? Discuss the different parts of a

business letter. 16

AEEAS 9 F1 B P UF AEEOE T B QAR A9E
AR & agrE Sk

. Explain the following : 8+8=16
=T 3t e #ifS
(a) Notice of Meeting
qA1 3 GIA
(b) E-Mail
-
UNIT -1l
g —

What is Business Report ? Explain the various steps to

be taken for Report preparation.’ 16
FaaiE RaE 7@ 3 ? RAd & dal & B = @
HTEAT HIfSTT

. What is meant by a proposal ? Discuss the need &

classification of a proposal. 16

T H A o § 7 A A HEEEd W aie Bl
AT I



UNIT - IV

s - IV
8. What is meant by Body Language ? Discuss the types
and significance of Body Language. ' 16

mwwwm%?ﬂr&ﬁmw%m@m
W T g

What are the barriers in way of effective listening ? ‘,
How it can be overcome ? 16

mmﬁﬁ-ﬁﬂ-ﬁm%?ﬁw%@wwm
qHar 8 ?

61074-2,600-(P-4)(Q-9)(24) (4)
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B. Com. (Pass Course) 1st Semester
w. e. f. Academic Session
2014-15 To 2023-24
(For Re-Appear)
Examination — December, 2024
BASICS OF COMPUTERS-I (Theory)

Time : Three Hours ] [ Maximum Marks : 50

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.
g7t & g7 87 @ Ve yourf 7 ghAkead #% o & g 37 @
a8 o g Frem & a3 ST s qay 4 @g A Rrerad T
g |
Note: Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.
% R Y 0F O g0 g FW 99 W & IW
M s wer 1 HREE 'R S 3 o

T 2
1. Write short note on following : 10
frrffad @ it feaelt fofag
(i) Computer
LA

91105-2,600-(P-4)(Q-9)(24) P.T.O.



(i) Web Camera

A I
(iii) ROM
!
(iv) Ruler
N
UNIT - |
@ - |
2. Describe Computer and its characteristic in detail. 10
FYX AN 3R Risiaret @1 Rk & 3o B
3. Classify the computers according to Purpose and
Technology. 10
3R R THFF B AGER FET HF FFA H
~UNIT-1I
s - I
4. Describe the following : 10
Frr=tfeaa &1 aofe #X
(i) Joystick
Srafes
(ii) OCR
a @ o

91105-2,600-(P-4)(Q-9)(24) (2)




5. Describe the following :
RrffEd # au T
(i) Laser Printer

ot et

10

(ii) Sound Card
HIeE e

UNIT -1ll
g -

6. Explain in detail about memory and memory
heirarchy. | 10

T A A qErRd & 9 9 R & s

7. Describe the following : 10
- frafaRed & aob &
(i) Magnetic Tapes
S 2
(ii) Magnetic disks
g5 fe
UNIT -1V

e — IV

8. Give a complete description about MS-Word. 10

T TE-a8 % AR ¥ q e &

91105-2,600-(P—4)(Q-9)(24) (3) P.T.O.



9. Describe the following :
i @ ol &t -
(1) Macro
LED)

(ii) Export and Import Files
fFata ok e wred

91105-2,600-(P-4)(Q-9)(24)

(4)

10
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